Class XII Chapter 11 - Three Dimensional Geometry Maths

If a line makes angles 90°, 135°, 45° with x, y and z-axes respectively, find its
direction cosines.
Answer
Let direction cosines of the line be |, m, and n.
I=c0s90°=0
1

m=c08135°=——
V2

n=cos45° =

2
IS‘II e

] ]
(),—»—(—‘ and =
Therefore, the direction cosines of the line are V2 V2

Find the direction cosines of a line which makes equal angles with the coordinate
axes. Answer

Let the direction cosines of the line make an angle a with each of the coordinate axes.
~l=cosa, m=cosa,n=cosa

F4m +n =1
= Ccos @ +cos  a+cos  a=1

= 3cos =1

D | —

= COS” a =-

‘o

= cosa==%

ik
'JJ\]
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Thus, the direction cosines of the line, which is equally inclined to the coordinate axes,

] 1
,t—, and

V3 Y

oo
are Vv

Ll

If a line has the direction ratios —18, 12, —4, then what are its direction
cosines? Answer

If a line has direction ratios of —18, 12, and —4, then its direction cosines are

~18 12 4
J=18Y +(12) +(=4)  J(-18F +(12) +(—4)  \J(-18) +(12) +(~4)
. -18 12 4
1L.€.. § T T
22 22 22
9 6 -2
17117 11
i 2
E,E-,and—h

I ]

Thus, the direction cosines are

Show that the points (2, 3, 4), (-1, =2, 1), (5, 8, 7) are

collinear. Answer

The given points are A (2, 3,4),B (=1, — 2, 1), and C (5, 8, 7).

It is known that the direction ratios of line joining the points, (x1, y1, z1) and (x2, y2,
z2), are given by, x2 — X1, y2 — y1, and z2 — zi.

The direction ratios of AB are (-1 — 2), (-2 — 3),and (1 — 4)i.e., =3, =5, and -3.
The direction ratios of BC are (5 — (- 1)), (8 = (- 2)),and (7 — 1) i.e., 6, 10, and
6. It can be seen that the direction ratios of BC are —2 times that of AB i.e., they

are proportional.

Therefore, AB is parallel to BC. Since point B is common to both AB and BC, points A,
B, and C are collinear.
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Find the direction cosines of the sides of the triangle whose vertices are (3, 5, — 4),
(-1,1,2)and (-5, -5, — 2)

Answer
The vertices of AABCare A(3,5, -4),B (-1, 1, 2), and C (-5, -5, —-2).

A (3.5 -4)

B C
(-1.1,2) (5 5 35

The direction ratios of side AB are (-1 — 3), (1 — 5), and (2 — (—4)) i.e., -4, —4, and 6.

Then,y(~4)' +(~4)’ +(6)’ =16+16+36
=68
=217
Therefore, the direction cosines of AB are
-4 -4 6

> > +

Y=Y (=) +(6) J(=4) +(=4) +(6) (=) +(~4) +(6)

-2 =2

1717717
The direction ratios of BC are (-5 — (-1)), (-5 -1), and (-2 - 2) i.e., —4, —6, and
—4. Therefore, the direction cosines of BC are

—4 . ~6 _ —
VY +(6) +(—4) (4 +(-6) + (4 (-4 +(-6) +(~4)
-4 -6 -4
2177 2177 2417

The direction ratios of CA are (-5 - 3), (-5 -5),and (-2 — (—-4)) i.e., =8, —10, and
2. Therefore, the direction cosines of AC are
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-8 -5 2
JE8) (10 +(2) ((=8) +(10)° +(2) {(=8) +(10)" +(2)
= -10 2

22 212’ 22
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Show that the three lines with direction cosines

5 3-4 495 8 B 438
137137137 13713713 13713 13 are mutually perpendicular.
Answer

Two lines with direction cosines, 11, m1, n1 and l2, m2, n2, are perpendicular to
each other, if l1l2 + mim2 + n1n2 =0

(i) For the lines with direction cosines, and 1371313, we obtain

12 4 (=3) 12 (—4)
W +mm, +nn, = —x—+| — x—+[ X —
; . 313 I3 T T3 13/ 13
_ 48 36 12
169 169 169
=0
Therefore, the lines are perpendicular.
4 12 3 3 412
(i) For the lines with direction cosines, 13 13 13and 13713 13, we obtain
3 12 4 3 12
LWL +mm, + nn, = —x—4 —x‘ = [t
13 13 13 (13} 13 13
12 48 . 36
169 169 169
=0
Therefore, the lines are perpendicular.
3 412 12 -3 -4
(iii) For the lines with direction cosines, 1313 135p¢ 13 13 13 , we obtain
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-~

J 13
36 N 12 48
169 169 169
=0

(3) (12) (-4 (-3) [12)
L, +mm, +nn, =| B X
2 : 2= | 13

\IS/' \

Therefore, the lines are perpendicular.
Thus, all the lines are mutually perpendicular.

Show that the line through the points (1, —1, 2) (3, 4, —2) is perpendicular to the
line through the points (0, 3, 2) and (3, 5, 6).

Answer

Let AB be the line joining the points, (1, —1, 2) and (3, 4, — 2), and CD be the

line joining the points, (0, 3, 2) and (3, 5, 6).

The direction ratios, a1, b1, c1, of AB are (3 — 1), (4 — (-1)), and (-2 — 2) i.e., 2, 5,
and —4.

The direction ratios, a2, b2, c2, of CD are (3 — 0), (5 — 3), and (6 —-2) i.e., 3, 2, and
4. AB and CD will be perpendicular to each other, if ata2 + bib2+ cic2 = 0

aiaz + bibp+ cico=2x3+5x 2+ (—4) x4

=6+ 10 - 16

=0

Therefore, AB and CD are perpendicular to each other.

Show that the line through the points (4, 7, 8) (2, 3, 4) is parallel to the line through
the points (-1, -2, 1), (1, 2, 5).

Answer

Let AB be the line through the points, (4, 7, 8) and (2, 3, 4), and CD be the line
through the points, (-1, =2, 1) and (1, 2, 5).

The directions ratios, a1, b1, c1, of ABare (2 -4), (3 —-7),and (4 — 8)i.e.,, -2, -4,
and —4.

The direction ratios, a2, b2, c2, of CD are (1 — (-1)), (2 — (=2)),and (5 - 1) i.e., 2,
4, and 4.
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a b ¢

AB will be parallel to CD, if % & &

a =2
:7:——]

d, 2

e’.ll_—4__1

b, 4

o _=4_

c, 4
]
a, b«

Thus, AB is parallel to CD.

Find the equation of the line which passes through the point (1, 2, 3) and is parallel to
the vector>! T2/~ 2k
Answer

It is given that the line passes through the point A (1, 2, 3). Therefore, the position
vector through A is @ =1 2/ +3k

b=3i+2j-2k

It is known that the line which passes through point A and parallel to b is given

F=d+Ab, where A .
= » Where 2 1o 2 constant.

= F=i+2j+3k+A(3i +2/-2k

This is the required equation of the line.

Find the equation of the line in vector and in Cartesian form that passes through the

point with position vector 2i —j +4k and is in the direction
i+2j—k  Answer

It is given that the line passes through the point with position vector
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a=2i—j+4k (1)
b=i+2j—k -(2)
It is known that a line through a point with position vector d and parallel to b is given by

the equation, 7 =d+ b

—%c 31?—]+4/\7+).(:f+2_}'—/\7:

This is the required equation of the line in vector form.
F=xi —_\j}'+ zk

= xi — )+ 2k = (A+2)i+(24-1)j+ (-2 +4)/xT

Eliminating A, we obtain the Cartesian form equation as

This is the required equation of the given line in Cartesian form.

Find the Cartesian equation of the line which passes through the point

(=2, 4, —5) and parallel to the line given

X+d) y=—4 zZ+0

by 3 5 6 Answer

It is given that the line passes through the point (-2, 4, —5) and is parallel to

x+3 v-4 z+8

3 5 6
x+3 y-4 z+8
The direction ratios of the line, 3 B 5 6 ,are 3, 5, and 6.
x+3 y-4 z+8
The required line is parallel to 3 ) 5 ) 6 Therefore,

its direction ratios are 3k, 5k, and 6k, where k # 0

It is known that the equation of the line through the point (x1, y1, z1) and with direction

X=X PP Z=Z

ratios, a, b, ¢, is givenby ¥ b ¢
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Therefore the equation of the required line is

x+2 y-=4 z+5

3k Sk 6k

The Cartesian equation of a line is 3 7 2| Write its vector
form. Answer

The Cartesian equation of the line is

3 7 2 il

The given line passes through the point (5, —4, 6). The position vector of this point is

Xx=5_y+4_z-6

i=5—4] +6k
Also, the direction ratios of the given line are 3, 7, and 2.

This means that the line is in the direction of vector, b=3i+7]+2k

= |

It is known that the line through position vector d and in the direction of the vector ! is

given by the equation, r=a+b,AeR

= 7 = (51 —4]+6k)+4(31+7] +2£)

This is the required equation of the given line in vector form.

Find the vector and the Cartesian equations of the lines that pass through the origin
and (5, -2, 3).
Answer

The required line passes through the origin. Therefore, its position vector is given by,

=0 (1)

The direction ratios of the line through origin and (5, -2, 3)
are(5-0)=5,(-2-0)=-2,(3-0)=3
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The line is parallel to the vector given by the equation, b=5i-2j+3k

The equation of the line in vector form through a point with position vector d and parallel

to bis, F=d+2b, AeR

A

= F=0+A(5-2]+3k)

=>F :z(si—zj'+3/$)

The equation of the line through the point (x1, y1, z1) and direction ratios a, b, c is given
X=X Y=V _Z=%

by, @ b (&

Therefore, the equation of the required line in the Cartesian form is

Find the vector and the Cartesian equations of the line that passes through the points
(31 _21 _5)1 (31 _21 6)
Answer

Let the line passing through the points, P (3, —2, —=5) and Q (3, —2, 6), be
PQ. Since PQ passes through P (3, —2, —5), its position vector is given by,

a=3i-2j-5k

The direction ratios of PQ are given by, (3
-3)=0,(-2+2)=0,(6+5)=11
The equation of the vector in the direction of PQ is

b=0i-0]+11k=11k

The equation of PQ in vector form is given by, | ~ 440, A€ R

7= (v3f—2_}‘—5/§-)+l LAk

The equation of PQ in Cartesian form is
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Find the angle between the following pairs of lines:
0 r=2i-5]+k+A(3-2j+6k)and
r=Ti—6k+u(i +2]+2k)

)3:3/’4_}'—2/$+/1(f—_}'—215)and

(i)
F=2i-j-56k+u(3i -5]-4k)

Answer
(i) Let Q be the angle between the given lines.

cosQ = L l:
‘h_,

i

The angle between the given pairs of lines is given by,
The given lines are parallel to the vectors, 1 =3i +2j+6k gng

- ” . D) A £
b,=i+2j+2k , respectively.

BT =7

B =) +(2) +(2)' =3
b, -b, =(3f+2]+6/\:A)~(f+3_}+3/t::)
=3x1+2x2+6x%x2

=3+4+12

~19
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=cosQ=
3
19 )

21)

7x
= 0 =cos '[

(ii) The given lines are parallel to the vectors, bl =i—J—2k and

by =31 =5j-4k  respectively.

[ [=4) +(-1 +(-2) =6

j,

=) +(-5) +(-4)' =50 =5V2

=3+5+8
=16
cosQ = @h
Wl
= cos0 = L = i o 1
V652 243502 1043
8
= cos() = ——=
* 53
)
= (O =cos S,_
L 543

Find the angle between the following pairs of lines:

x=2 y=1 z+3 x+2 y-4 =z-=5
- = - = - and — -= = - = ~
(i) 2 5 -3 —1 8 4
. ) . -8 pan) 7 -3
XX T g, Y E=S
Gy 2 2 1 1 8
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i. Let Mand ?
.. -2 -t
x=2_y-1_z+3_, xd
2 5 -3 —1

:be the vectors parallel to the pair of lines,

, respectively.

[;l = 2;*5].—3/\Aand 1;: :—1:+8./A'+4I\:

B =(2) +(5) +(-3) =38

I

2 f = = = 2
By =(=1)" +(8)" +(4)" =81 =9
by-by=(2i+5] ~3k)(~i +8] +4k|
=2(~1)+5x8+(-3)-4
=-2+40-12
=26

The angle, Q, between the given pair of lines is given by the relation,

™ |-

& X
(ii) Let 1, be the vectors parallel to the given pair oflines, 2

-

\
v
-

|
N
ry
(98

, respectively.
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b, =2i+2j+k

b, =4i+ j+8k

[ =2 +(2) +(1 =8 =3

bl=v4 +1°+8 =/81=9

b b, =(:2f+2}'+ff)-(4f+_}+8i;)

=2x4+2x]1+1x8

=8+2+8
=18
b, b,
cos Q ===
il
If Q is the angle between the given pair of lines, then -
2
= cosQ= 26, ==
T 3x9 3
| 2
= () =cos {-;]
o )
l=x _ty—-14 z=3
i . ¥ Ip D
Find the values of p so the line “f < and
T=lIx;_ p=3.; 0=z
3p I 5 areat right angles.
Answer
The given equations can be written in the standard form as
x=k p=2 =z~3 x—1 __y=2 22—6
3 2p 2 3p 1 -5
7 and 7
2 5
2p 2P g
The direction ratios of the lines are —3, 7, 2 and 7 respectively.

Two lines with direction ratios, a1, b1, c1 and a2, b2, c2, are perpendicular to each
other, if ata2 + b1 b2 + c1c2=0
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i (=3BY P20 5 o o
2(=3) \l.,_ -~ MT[ (1)+2-(-5)=0
9p 2p
=P Py
7 7
=1lp=T70
70
= p=

".’j
Thus, the value of p is !!
x=5 _y+2 _z xX_y_ 2z
Show that the lines 7 -3 land I 2 3are perpendicular to each
other. Answer
x=5 P+ o2 X Yy z
The equations of the given lines are 7 5 landl 2 3

The direction ratios of the given lines are 7, =5, 1 and 1, 2, 3 respectively.

Two lines with direction ratios, a1, b1, c1 and a2, b2, c2, are perpendicular to each

other, if ata2 + b1 b2 + cic2 =0
27X1+(=5)x2+1x3

=7-10+3
=0
Therefore, the given lines are perpendicular to each other.

Find the shortest distance between the lines
l::(f 274 A) { /’.(f j 4 /\t‘)and

,Z:217_.;_1;;.‘“(2;{;:*2/\:)
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Answer

The equations of the given lines are
;=(1:+2‘}'+l;.)+}.(f— /+/\)

r=2i - j—k+u(20+j+2k)

It is known that the shortest distance between the lines, nd ,
is given by,
(5xb.)-{a:-a)
d=|- — : (l)
b, x h: ‘

Comparing the given equations, we obtain
d=i+2j+ k

§=i—jul

.

b,=2i+]+2k

a2~ =(28 = k)~ +2] +K) =i -3] -2

i i k
b xb, =l -1 1
2 1 2

boxb, =(-2-1)i =(2-2)j+(1+2)k=-3i +3k

N TEE g -
= b xby|=/(-3) +(3) =v9+9=+18=32

Substituting all the values in equation (1), we obtain
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(3?4—3»&] (f— ﬁ,r—'-

32
3.1+3(=2)
w2302
32
-9
=>d=|—=
342
3 3x2 32
= Cj === ﬁ =
V2 V2x42 2
32
Therefore, the shortest distance between the two linesis 2 units.
x+1  y+1 z+1
Find the shortest distance between thelines -~ ~ - ~— .+ and
x=3 p=5: 2=1
1+~ 1 Answer
x+l  p+l z+l X=3 p=F g—i
The given lines are 7 —6 I and I —2 I

It is known that the shortest distance between the two lines,

X=X _Y=N_ZI=5 X% Y-V _ZI-%
a, b, (X a, b, “is given by,
AERE Y Ya=h ]
a, b, e
a, b, c,

d = = =
\/(blc.‘ h.‘.‘;ll ) "(Ct“: o4, ) ! ("lh: ”:hx )—

Comparing the given equations, we obtain
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Y= Ya—H oo |4 6 8
Then,| a b, o =|7 =3 :
a, b, c, I -2 I
= 4(=6+2)—=6(7—1)+8(~14+6)
=—l6-36-64
=-116

= \J(Biey —b.) +(cay — ey ) +(ap, —arh ) = J(-6+2) +(1+7)" +(-14+6)°
=./16+36+064
= '\,"r”—ﬁ
=229

Substituting all the values in equation (1), we obtain

-116 -58 =-2x29 -
— = — =2 ‘)()
I=lm o 5 %

Since distance is always non-negative, the distance between the given lines

is 2N29 units.

Find the shortest distance between the lines whose vector equations are
r =('1?+2./"+31\:)+/i(f ~3_;+2/\:)

and r =4f+5]'+6l;+/1(2f+3_}'+/;)

Answer

r :f+2j’+3&:+),[rf—3_f+21'-;:) = 4f7+5_}'+6!\:+,u(‘217-—3‘}'+k:]
The given lines are : “and ' /

F=a, + b,

It is known that the shortest distance between the lines, 'and ,

is given by,
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- (/), xh-: )(u u)‘

(1)
|

¢

b x b,

Comparing the given equations with © =@ t 40 ang 7 =d: + 1th, e optain
a =i +27+3k
bo=i-3j+2k
ar = 4i +Sf}'+(}l2
b,=2i +3j+k
ay —ar =(4F +5]+6k )|~ (i +2]+3k) =37 +3]+3k

i / k
h x b, = |1 -3 2/=(-3-6)i—(1-4)j+(3+6)k =-9i +3)+9%k

2 3 1

= b xb,|= J(-Q)" +(3) +(9) =81+9+81 =+/171=319

(B xhy )-(a2—an)=(~97 +37+9k)-(3i +37 +3k)
=—Ox3+3I=x3+9x3
-9

Substituting all the values in equation (1), we obtain

9
d= . | =

W19 V19
3

Therefore, the shortest distance between the two given lines is Vinits.

Find the shortest distance between the lines whose vector equations are
r=(1-t)i +(r-2)j+(3-2f)kand

r=(s+1)i+(2s=1)j-(2s+1)k

Answer

The given lines are
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r=(1=t)i+(1-2)j+(3-2)k
=7 =(i=2j+3k )+e(-i + j-2k ) (1)
r=(s+1)i+(2s-1) - (25 +1)k

g% ]
Pl

It is known that the shortest distance between the lines, ! 'and 3 2 =
is given by,

(5, x5,)-(az -a:)
d=|- — -

— ~(3)
‘hl x/):‘

For the given equations,

;n = f? = 2; + 3!:

51 = —f +_}— 2;;

ar=i—j—k

br=i42]-2k

a:—ay = (f—]—i)—(a—2;+3f;] =,;’—4£:

i / k
boxb=|-1 1 —2|=(-2+4)i-(2+2) j+(-2-1)k =2/ -4 -3k
9 -2

e m  p—— 7 e  — f—
= b x by =4/(2) +(-4) +(-3) =v4+16+9 =429

o (Byxby ) (@ —ai )= (27 —4] - 3k)-( -4k ) =—4+12=8
Substituting all the values in equation (3), we obtain

8 | 8

d= =
29 29

8

Therefore, the shortest distance between the lines is\’29 units.
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In each of the following cases, determine the direction cosines of the normal to the
plane and the distance from the origin.

(a)Z =2 (b) .\"f"\"’: =]

(C) 2.\'+3‘1'—: —S(d)sy + 8 —
0 Answer

(a) The equation of the planeisz=2o0r0x + 0y + z= 2 ...
(1) The direction ratios of normal are 0, 0, and 1.

\""(.)‘ﬂ +0°+1* =1

Dividing both sides of equation (1) by 1, we obtain
Ox+0.y+1lz=2

This is of the form Ix + my + nz = d, where |, m, n are the direction cosines of normal
to the plane and d is the distance of the perpendicular drawn from the origin.

Therefore, the direction cosines are 0, 0, and 1 and the distance of the plane from
the origin is 2 units.

b)x+y+z=1..(1)

The direction ratios of normal are 1, 1, and 1.

N +() +(1) =43

=
Dividing both sides of equation (1) by v3 , we obtain

] | 1 |
Xty -(2)

=
R) VS vV

(99

=
b]

v V:
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This equation is of the form Ix + my + nz = d, where |, m, n are the direction cosines

of normal to the plane and d is the distance of normal from the origin.

] ] ]

=T Zlﬂd'?
J \Ij‘3

Therefore, the direction cosines of the normal are V3
1

V3 and the distance of

NS
normal from the origin is V3 units.
(c)2x+3y—-2z=5...(1)
The direction ratios of normal are 2, 3, and —1.

2 J2) +(3) +(-1)" =14

o
Dividing both sides of equation (1) by V14 we obtain
2 N 3 1 5
— X+ —— - Z=——
Jiat  idT 14T 4

This equation is of the form Ix + my + nz = d, where I, m, n are the direction cosines
of normal to the plane and d is the distance of normal from the origin.

2

— ;- and
Therefore, the direction cosines of the normal to the plane are Vi4 V14 V14 and

5

the distance of normal from the origin is V14 ynits.

(d)5y+8=0
>0x -5y +0z=8..(1)

The direction ratios of normal are 0, —5, and 0.
\.’I(') +( -5)" +0=5

Dividing both sides of equation (1) by 5, we obtain

=
Il
| oo
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This equation is of the form Ix + my + nz = d, where |, m, n are the direction cosines
of normal to the plane and d is the distance of normal from the origin.

Therefore, the direction cosines of the normal to the plane are 0, —1, and 0 and the
8

distance of normal from the origin is 3 units.

Find the vector equation of a plane which is at a distance of 7 units from the origin and

normal to the

vector3i+5-;—(”;. Answer

The normal vector is, ji =30 +5] -6k

» - - 3f+5]'—()/;t /A+.7‘/—()/\t
ey ey V0

It is known that the equation of the plane with position vector Fis given by, r-n=d

(3f+57-6k )
:,‘.‘{7’_
\ V70

/

This is the vector equation of the required plane.

Find the Cartesian equation of the following planes:

Foli+j—k)=2 _F-(20+3]-4k)=1

(a (b)

Fol(s=20)i +(3-1) j+ (25 +1)k =15
(o * ‘
Answer

(a) It is given that equation of the plane is
Fo(i+j-k)=2 (1)

For any arbitrary point P (X, y, z) on the plane, position vector Fis given by,

F=xi+y— zk
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Substituting the value of rin equation (1), we obtain
(.\‘f + \/ - :/\)(1 +J - /\) =2

=>x+y—z=2

This is the Cartesian equation of the plane.

b) Fo(20+3j—4k)=1 (1)

For any arbitrary point P (X, y, z) on the plane, position vector Fis given by,
F=xi+ \/ —zk

Substituting the value of I in equation (1), we obtain

\1 + yj 4 :/\)(21 +3] 4/$)=I

=>2x+3y-4z=1

This is the Cartesian equation of the plane.

- P (s=20)i +(3-1)j+ (25 +1)k | =15 (1)

For any arbitrary point P (X, y, z) on the plane, position vector Fis given by,
F=xi +_\j}'—:/\j

Substituting the value of ¥ in equation (1), we obtain
(‘.\'I:+_l.‘;*:/\:)-[(3‘—2/);+(3~1) /.'+(2.\'+/)At] =15
=(s=2)x+(3-1)y+(2s5+1)z=15

This is the Cartesian equation of the given plane.

In the following cases, find the coordinates of the foot of the perpendicular drawn
from the origin.

(a) 2.\'*3)'+4:—]2—0(b) 3y+4z-6=0
(C) .\'+A\"“: = | (d) SA\'"'}'X - 0
Answer

(a) Let the coordinates of the foot of perpendicular P from the origin to the plane
be (x1, y1, z1).
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2X+ 3y +4z-12=0
=>2Xx+ 3y+4z=12 .. (1)

The direction ratios of normal are 2, 3, and 4.

2 J(2) +(3) +(4) =v29

Dividing both sides of equation (1) by Y29, we obtain
2 N 3 - 4 12
e e =
V29 29 V29 V29

This equation is of the form Ix + my + nz = d, where |, m, n are the direction cosines
of normal to the plane and d is the distance of normal from the origin.

The coordinates of the foot of the perpendicular are given

by (Id, md, nd).

Therefore, the coordinates of the foot of the perpendicular are
( 2 12 3 12 4 12 ). (24 36 48)

\ \."'2—9. V/Z_() . V"’Z_Q :

—— — 1S P g,
J20° 29 29 ) T 29749729

(b) Let the coordinates of the foot of perpendicular P from the origin to the plane be
(X1, y1, z1).
;lo.l"“:;_\"* 4: = 6 (1)

The direction ratios of the normal are 0, 3, and 4.

cAJ0+3 44 =5

Dividing both sides of equation (1) by 5, we obtain
3 4 6

X J -
Ox+—=yp+—z=—
578 5
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This equation is of the form Ix + my + nz = d, where |, m, n are the direction cosines
of normal to the plane and d is the distance of normal from the origin.

The coordinates of the foot of the perpendicular are given
by (Id, md, nd).
Therefore, the coordinates of the foot of the perpendicular are

4 6). (18 24)
= ie., ' —==1.
55 \ 25 2

Lo,

|

LV Y]
n

(c) Let the coordinates of the foot of perpendicular P from the origin to the plane be
(X1, y1, 21).

X+y+z=1 (1)

The direction ratios of the normal are 1, 1, and 1.

AP +P 1 =43

Dividing both sides of equation (1) by V3 , we obtain

1 ] 1 I
X v+

Ul
)

J
J

VI

This equation is of the form Ix + my + nz = d, where |, m, n are the direction cosines
of normal to the plane and d is the distance of normal from the origin.

The coordinates of the foot of the perpendicular are given
by (Id, md, nd).
Therefore, the coordinates of the foot of the perpendicular are

1 1L 3 1 1

— s = — s = — =
~

V3 3 V3 V3

3 V3 43 V343 \3 3 3
(d) Let the coordinates of the foot of perpendicular P from the origin to the plane be
(X1, y1, z1).

$0x8=3y + 0z =8 ... (1)

The direction ratios of the normal are 0, —5, and 0.
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\l‘l(') +( <) +0=5

Dividing both sides of equation (1) by 5, we obtain

| oo

v'l- =

This equation is of the form Ix + my + nz = d, where I, m, n are the direction cosines
of normal to the plane and d is the distance of normal from the origin.

The coordinates of the foot of the perpendicular are given

by (Id, md, nd).

Therefore, the coordinates of the foot of the perpendicular are
0,-1|=],0|ie,[0,-2,0].
\ ~\ / / \ \ -".

/

\
\

Find the vector and Cartesian equation of the planes

i+j-k]

(a) that passes through the point (1, 0, —2) and the normal to the plane is
(b) that passes through the point (1, 4, 6) and the normal vector to the planeis

IT—Z'}'-:-/\'

Answer

(a). The position vector of point (1, 0, —2) is 4 =1 -2k

The normal vector N perpendicular to the plane is N = ’+l“/‘
(F-a).N=0

The vector equation of the plane is given by, *
Az (G2 (o5 F)-=

—lLl —(/—2/\‘)_1.(./+7/—A’)—() (1)

I is the position vector of any point P (x, y, z) in the plane.
S F= .\‘1:4—_1;}'—:/\T

Therefore, equation (1) becomes
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[(\1 + ,1)1A'+ zk ] - (1 - 21\):|(1 + /—A} =0
3[(,\-_])1:4{1-;@(:+2)/\:J‘(f+}‘—/\:)=()

= (x=1)+y—-(z+2)=0

=>x+y—-z-3=0

=>x+y—z=3

This is the Cartesian equation of the required plane.

(b) The position vector of the point (1, 4, 6) is a=i+4j+6k
The normal vector perpendicular to the plane is N=i-2j+k

The vector equation of the plane is given by, (F—a).N=0

= [ (P +4j+6k) | (-2]+k)=0 (1)

I is the position vector of any point P (x, y, z) in the plane.
LE=Xi+y+ 2k

Therefore, equation (1) becomes

(s +37+ k) (7 + 4]+ 6k) | (F-27 +£) =0

— {(A\'—l)f+(_1'—4‘)‘}'+(:—6)kﬂ](/¢—2/"+l\:}: 0

= (x-1)-2(y-4)+(z-6)=0

=>x-2y+z+1=0

This is the Cartesian equation of the required plane.

Find the equations of the planes that passes through three points.

(a) (11 11 _1)1 (61 4, _5)1 (_41 _21 3)

(b) (11 11 O)I (11 2/ 1)/ (_21 2/
—1) Answer

(@) The given points are A (1, 1, —1), B (6, 4, —=5), and C (-4, -2, 3).
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6 -+ -5/=(12-10)-(18-20)-(-12+16)
-4 -2 3

=2+2-4

=0

Since A, B, C are collinear points, there will be infinite humber of planes passing
through the given points.

(b) The given pointsare A (1, 1, 0), B(1, 2, 1), and C (-2, 2, —-1).
1 1 0

(]

)-(2+2)=-8#0

-

2
Therefore, a plane will pass through the points A, B, and C.

2)

(X752 ) (%55 755

It is known that the equation of the plane through the points, , and
(-",:~."3~:;), is
X—X, Y—» z-2
X5 % - w HEgl=0
X, =X Vi=V 2:=2,
x-1 y-1 =z
= 0 ] 1 |=0
=3 1 -1
=(=2)(x—-1)=-3(y-1)+3z=0

=>-2x-3y+3z+2+3:

0

= 2x-3y+3z=

-5

= 2x+3y—-3z=35

This is the Cartesian equation of the required plane.

i i 2X+y—z=3
Find the intercepts cut off by the plane .
Answer

2x+y—z=5

(1)
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Dividing both sides of equation (1) by 5, we obtain

=1 -(2)

It is known that the equation of a plane in intercept form is ¢ b ¢ , where a, b,
c are the intercepts cut off by the plane at x, y, and z axes respectively.

Therefore, for the given equation,

wn

a=—,b=5and c=-5

(3]

¥ . z
,5,and -5
Thus, the intercepts cut off by the plane are 2

Find the equation of the plane with intercept 3 on the y-axis and parallel to ZOX
plane. Answer

The equation of the plane ZOX
isy=0
Any plane parallel to it is of the form, y = a

Since the y-intercept of the plane is 3,
~a=3

Thus, the equation of the required planeisy = 3

Find the equation of the plane through the intersection of the planes

W—y+22-4=0459 ¥+ +2-2=0504 the point (2, 2, 1)

Answer
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The equation of any plane through the intersection of the
planes, 3x —y+2z—-4=0andx+y+z-2=0,is

(3x—y+2=—-4)+a(x+y+z-2)=0, where « € R (1)
The plane passes through the point (2, 2, 1). Therefore, this point will satisfy equation
(1).

s(3x2-2+2x1-4)+a(2+2+1-2)=0

=2+3a=0
2
== e
2
5
& == T
Substituting 3in equation (1), we obtain

5
(3x—y+2z-4)-—(x+y+2-2)=0

5 )
=3(3x-y+2z-4)-2(x+y+z-2)=0
= (9x=3y+62=12)=2(x+y+z-2)=0
= Tx-5y+4z-8=0

This is the required equation of the plane.

Find the vector equation of the plane passing through the intersection of the planes
Fo(20+2]-3k)=7, F.(20+5]+3k)=9
; ' : and through the point (2, 1, 3)

Answer
r -(Zf +2]—3/;) =7and r -(2:’ —‘5_}'+3A7) =0
The equations of the planes are '

=7 +(27 4 2.}'-3/5)»-7=0 ws(l)
/"-(21‘.+5_}'+3/\:t)—9=0 (2)

The equation of any plane through the intersection of the planes given in equations
(1) and (2) is given by,

[F.':2f+3_}'—3/;)—7]+)']i'-:'(zi"'s';*'y‘:)_()]Z(), where 4 € R
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,-'.[(zh2]—3A7)+;.(’2i+5.}'+3[)} —94+7

Fo[(2+22)i +(2+54) j+(34-3)k |=92+7 .(3)

The plane passes through the point (2, 1, 3). Therefore, its position vector is given by,
F=2i+2j+3k

Substituting in equation (3), we obtain

(27 +] -3/5').[(2+2/:)f?(2+5,i) }'+(3/‘.—3)é]=9/:+7
=(2424)+(2+54)+(34-3)=94+7

=184-3=04+7

=94=10

, 10
> A=—
9
. 10
A=—
Substituting 9 in equation (3), we obtain

(38 68
o

‘\
- I—q'
'\ 9 9 9 J

= F (zal+6a,+w<) 153

This is the vector equation of the required plane.

Find the equation of the plane through the line of intersection ofthe planes

X+y+z=1 and 2x+3y+4z . wh|ch is perpendicular to the plane X-y+z=0

Answer
The equation of the plane through the intersection of the planes,

and -\+31+4- =5 is

X+y+z=1
(x+y+z-1)+A(2x+3y+4z-5)=0

=(24+1)x+(32A+1) y+(44+1)z=(54+1)=0 (1)

The direction ratios, a1, b1, c1, of this plane are (2A + 1), (3A + 1), and (4A +

1). The plane in equation (1) is perpendicularto * ~ ¥ 7%~ 0
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Its direction ratios, a2, bz, c2, are 1, —1, and 1.
Since the planes are perpendicular,

aa, +bb, +ec, =0
=(24+1)=(34+1)+(44+1)=0

= 34+1=0

= A=
: 1
A= *:
Substituting 2 in equation (1), we obtain
1 1 2
x=-—z+—=0
3 3 3

=>x—z+2=0

This is the required equation of the plane.

Find the angle between the planes whose vector equations are
2 o i 1) P = (37 -3 745k ) =

/ (-I +2] 3A) jand 7 (.s/ 3 J\) 3.

Answer

Fo(2i+2j-3k)=5  F-(3i-3j+5k)=3

The equations of the given planes are and
It is known that if ""and "are normal to the planes, ' " =d, SRRty = d:, then
the angle between them, Q, is given by,

n - n
cosQ=——L 1)

'”lH”_‘|

= _AY . nT af R

Here, T =2 +2] 3k and n, =3i -3 + 5k
sy iy = (2 +2] -3k )(3 -3/ +5k) =2.3+2.(-3) +(-3).5=-15
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Substituting the value of % , #,|and|#, in equation (1), we obtain
0 -15 |
cosQ = |———
\ﬁ*w'ﬁ!
0 15
= c0s0 =——
V731
(15 )
=080 =| ——= |
V731,

In the following cases, determine whether the given planes are parallel or
perpendicular, and in case they are neither, find the angles between them.

(a) Tx+5y+62z+30=0and 3x—y—-10z+4=0
(b) 2x+y+3z—2=0and x-2y+5=0

2x=2y+4z+5=0and 3x-3y+6z—-1=0

(-

(d) 2x—y+3z—1=0and 2x—y+3z+3=0
(@ P +8y+2-8=0 and y+z-4=0
Answer

L:ax+by+cz=0

The direction ratios of normal to the plane, , are ai, b1, c1 and

L,:ax+b,y+c,z=0 are a,, b,, c,

LIL,if L=2=5
‘ a by &
L LL,if aa,+bb,+cc,=0

The angle between L1 and L2 is given by,

a,a, +bb, +cc,

Q=cos™'
5 5 9 ) 5 2
vai +b1 +el a3+ b + ¢

(a) The equations of the planes are 7x + 5y + 6z + 30 =0
and3x—-y—-10z+4=0

Here, a1 = 7,b1=5,c1=6
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a, =3, b,=~lc, =-10
aa, +bb, +cc, =Tx3+5%(=1)+6x(-10)=-44 0

Therefore, the given planes are not perpendicular.

a 7T b 5 < 6 6 -3
a 3b -l ¢ —=10 5
a b ¢
b, ¢

It can be seen that, “:
Therefore, the given planes are not parallel.

The angle between them is given by,

Tx3+5x(=1)+6x(-10)

Q:CU&'_] | T " 5 f 3 : 3 3
V7Y +(5) +(6) xy3) +(~1)" +(-10)
0! 21-5-60
=008  |—/————
VIO <110
=C0s R
110
42
=gos —
5

(b) The equations of the planes are 2X+v+3z-2=0gpq ¥-2v+5=0

_" _ . _ o —
Here, @ =2 b=l¢=34q @=Lb=-2,c,=0

saay +bb, +cc, =2x1+1x(-2)+3x0=0

Thus, the given planes are perpendicular to each other.

Tv —_2v+d=4 8§ = . QAay ] =
(c) The equations of the given planes are <* ~ =} +4z+35 ¥ and 3x—-3y+6z-1=0
a=2,b-2,c=4

Here, and

a,=3,b,=-3,c,=6 aa,+bb, +cc, = 3”3*'(.‘3](,‘3" +4x6=0+6+24=36=(0
Thus, the given planes are not perpendicular to each other.

209 . 4
ﬁ— =12111di:i=

a 2
b, =3 3 C,

(SRR

2
5
a, 3
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a _b _¢

S by 6

Thus, the given planes are parallel to each other.

5 AT ) Ay o S =
(d) The equations of the planes are > ~¥ 3212044 2x=y+32+3=0
Here, @ =2, b=<Le;=3 and @ =2, b,==1, ;=3

%2 = I:]and L—.'-zé—l

aq _b ¢ - ¢, 3

Thus, the given lines are parallel to each other.

e) The equations of the given planes are 4¥ 8y +2-8=0,.4
(e) q g P

y+z—4=( ulz-“l,b,z&c',:la a,=0,b,=1¢,=1

) Here, nd

aa, +bb, +cc, =4x0+8x1+1=9=0

Therefore, the given lines are not perpendicular to each other.
a_4 b _8 ¢ a_1_,

l, - 0’ b, - ] ’ ¢

a b g
Lz L

g B 5

Therefore, the given lines are not parallel to each other.
The angle between the planes is given by,

4x0+8x1+1x1 e = l,‘
\/4: +8 +1° x \/ﬂ: +1P+0° 9xN2] \ VF—; y

O = cos
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In the following cases, find the distance of each of the given points from
the corresponding given plane.

Point Plane

(a) (0, 0, 0) 3.\'-4“'-’"2: =3

(b) (3, —2,1) 2X—y+2z+3=0
(c) (2, 3, —=5) ¥+2y—2z=9
(d) (-6, 0, 0)

2x=3y+6z2-2=0 A cwer

It is known that the distance between a point, p(x1, y1, z1), and a plane, Ax + By + Cz =
D, is given by,
Ax, + By, +Cz, - D

d= ———
VA + B +C°

(1)

(a) The given pointis (0, 0, 0) and the plane is 3x—4y+12z=3

|
13x0-4x0+12x0-3| 3 3

.'.(/—_—; = = == l,__: =
Y +(-4) +(12)7 | V160 13

(b) The given pointis (3, — 2, 1) and the plane is 2x—y+2z+3=0

2x3-(-2)+2x1+3| |13

g -
C an > =5 el 7205 b

‘d

oo (/ =

d

(c) The given point is (2, 3, —5) and the plane is * T2V —22=9

2+2x3—2(—5)—9| 9
nd= =2 =3

\/(l)#(zf+(—2‘f!;5

(d) The given point is (=6, 0, 0) and the plane is ¥ ~3V+62-2=0
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d

p)

~14

2( ()) 3x0+6x0

(>

V(2

)+ (=3) +(6)

\I""i 9

14

4

"
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Show that the line joining the origin to the point (2, 1, 1) is perpendicular to the
line determined by the points (3, 5, —1), (4, 3, —1).

Answer

Let OA be the line joining the origin, O (0, 0, 0), and the point, A (2, 1, 1).

Also, let BC be the line joining the points, B (3, 5, —1) and C (4, 3, —1).

The direction ratios of OAare 2, 1,and 1and of BCare (4-3)=1, (3 -5) = -2,
and (-1+1)=0

OA is perpendicular to BC, if ata2 + bib2 + c1c2 =0
sajaz + bibo+cicoc=2x1+1(-2)+1x0=2-2=0

Thus, OA is perpendicular to BC.

If 11, m1, n1 and I2, m2, n2 are the direction cosines of two mutually perpendicular
lines, show that the direction cosines of the line perpendicular to both of these are
min2 — m2ni, nil2 = n2l1, lim2 = l2my.

Answer

It is given that 11, m1, n1 and I2, m2, n2 are the direction cosines of two
mutually perpendicular lines. Therefore,

L+ mm, + o, =0 (1)
Pam+nm =1 -(2)
B+m+n =1 -(3)

Let I, m, n be the direction cosines of the line which is perpendicular to the line
with direction cosines |1, m1, n1 and I2, m2, n2.
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AL+ mmy+nnp = 0
I, +mm, +nn, =0

/ m n

mun, —mn, nl,—nd Lm,—Lm,

I m’ n
= — e
(mp, —oyn ) (nby=ml ) (hm,—Lm,)
I? m’ n
== ;= 5= ;
(mn, =mn) (nls=nd ) (hm,—Lm,)
I +m +n

= -(4)

(m,n, —m,n, )3 +(ml, —n,l, ) +(/,m, —1,m, )

[, m, n are the direction cosines of the line.
e mlen’=1. (5)

It is known that,
(/,: +m +n )(l + 5 +n} )—(/II: + nym, + nyn, ):

= (myn, —mom, ) +(ml, —myl,)' +(hmy —Lm, )’

From (1). (2),and(3), we obtain

=(myn, —myn, ) +(ndy =l ) +(lymy = Lmy) =1 ..(6)

Substituting the values from equations (5) and (6) in equation (4), we obtain

I B m _ n 1
(mn, —myn, »)ﬁ (mdy =mt))” (fmy,=Lm,)’

=Il=mn,-mn.m=nl, -nl . n=Ilm -Lm

. . . . . mn, —nn,, nl, =l andlm, = Lm,.
Thus, the direction cosines of the required line are " * 20 Ttz TR ST R
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Find the angle between the lines whose direction ratios are a, b, cand b —
c,c—a,a-—b.
Answer
The angle Q between the lines with direction cosines, a, b, cand b - ¢, ¢ -
a, a — b, is given by,
a(b-c)+ h((' a)+cla-h) ’

e - . [ 2 2 2
Va +b" +c” +4/(b—c) +(c—a) +(a—b) ’

cosQ =

— cosQ =0
= =cos 0
— 0 =90°

Thus, the angle between the lines is 90°.

Find the equation of a line parallel to x-axis and passing through the
origin. Answer

The line parallel to x-axis and passing through the origin is x-axis itself.

Let A be a point on x-axis. Therefore, the coordinates of A are given by (a, 0, 0), where
a eR.

Direction ratios of OAare (a—0)=a, 0, 0
The equation of OA is given by,
x=0_y-0_ z-0

a 0 0

Thus, the equation of line parallel to x-axis and passing through origin is
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If the coordinates of the points A, B, C, D be (1, 2, 3), (4, 5, 7), (-4, 3, —6) and (2,
9, 2) respectively, then find the angle between the lines AB and CD.

Answer

The coordinates of A, B, C, and D are (1, 2, 3), (4, 5, 7), (-4, 3, —6),

and (2, 9, 2) respectively.

The direction ratios of ABare (4 —1)=3,(5-2)=3,and (7 -3) =4

The direction ratios of CD are (2 —(—4)) =6, (9 —3) =6, and (2 —(-6)) =8

a b ¢ 1

It can be seen that, 2 0 ¢ 2

Therefore, AB is parallel to CD.
Thus, the angle between AB and CD is either 0° or 180°.

x=L _p=2 2z~3 x=1 yp=I_2z-6
If the lines —3 2k 2 and 3k ] =5 are perpendicular, find the
value of k.
Answer
x—1 y=2 z-3 x=1 y-1 z-6
The direction of ratios of the lines, —3 2k 2 and 3k 1 -5 , are =3,

2k, 2 and 3k, 1, =5 respectively.
It is known that two lines with direction ratios, a1, b1, c1 and a2, by, c2,
are perpendicular, if aia2 + bib2 + c1c2 =0
3(3k)+ 2k x142(-5)=0

= -9k +2k-10=0
= Tk=-10

-10
K

=k
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10
Therefore, for CF , the given lines are perpendicular to each other.

Find the vector equation of the plane passing through (1, 2, 3) and perpendicular to the

Fo(i+2]-5k)+9=0
plane /
Answer

A S S
The position vector of the point (1, 2, 3)is't ' "=/ +3k

Fo(i+2j-5k)+9=0

The direction ratios of the normal to the plane, ,arel, 2, and -5

and the normal vectoris Y =/ +2/ =3k

The equation of a line passing through a point and perpendicular to the given planeis

given by, | =F+AN,A€R

:/:(I+2/~3/\)+A(f+3/~§/\)

Find the equation of the plane passing through (a, b, c) and parallel to the plane

Fe(i+]+k)=2

Answer

Any plane parallel to the plane, , is of the form

’(I+IT/\’:) (1)

The plane passes through the point (a, b, c). Therefore, the position vector F of this

pointis I~ +/’;+<'/;

Therefore,
equation (1) becomes
(¢11?~/.7}'*(-/:'.)‘(;+]+/;) =

= a+b+c=A4
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Substituting A=a+tb+cip equation (1), we obtain
l"-(f+j'+/‘:)=u+/)+(' w2

This is the vector equation of the required plane.
Substituting = xi + )+ 2k in equation (2), we obtain
\1 + \/ + :A)(l 1 / <:~l€)za +b+c

=D x+y+z=a+b+c

F=6i+2]+2k+A(i -2 +2k)
Find the shortest distance between lines -

F=—4i —k+p(3i -2 -2k)
and . Answer '

The given lines are

F=6i+2]+2k+A(i -2 +2k) (1)
F:—'-I»f—kn+;1lv3l"—'_’j:—2k‘) (2)
It is known that the shortest distance between two lines, F=a,+4h and =% i 5
is given by
b xb, )-(@,—a,)
d= ( ! ,:L(,: ¢ 4{3)
lh' x b,

*=a,+Ab, and ¥ = a, + Ab,

Comparing ! to equations (1) and (2), we obtain

d =6i +2]+2k
b =i—2]+2k
g, =—4i —k

b,=3-2]-2k

= d, -, kﬁ—ﬂ—hh:ﬁeﬂ ~107 =2 -3k
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i j k
1 2 2 |=(444)i—(-2-6)j+(-2+6)k=8i + 8/ + 4k
2, 5 )

il

.
|

=] Box by = (8) +(8) +(4) =12

b x b, )-(a, —a )= (8 +8] + 4k )-(~10i =2 j -3k ) =-80-16-12=-108
(&% b,) (@ -a)=( ) )

Substituting all the values in equation (1), we obtain

J=|108

Iz | =

Therefore, the shortest distance between the two given lines is 9 units.

Find the coordinates of the point where the line through (5, 1, 6)
and (3, 4, 1) crosses the YZ-plane

Answer
It is known that the equation of the line passing through the points, (x1, y1, z1) and (x2,

X=x, Y=y Z—z

. g Va—=YW, 2,—3%
Y2, 22), is Vg -

The line passing through the points, (5, 1, 6) and (3, 4, 1), is given by,

=3 _yp=1_z=06
3-5 4-1 1-6
x=5 y-1 z-6 :
:>—f~='——4:—l=k(sa_v)
-2 3 =5 ]
= x=5-2k, y=3k+1,z2=6-5k

Any point on the line is of the form (5 — 2k, 3k + 1, 6 —5k).

The equation of YZ-plane is x = 0

Since the line passes through YZ-
plane, 5 -2k =0

=k=

SRRV
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Find the coordinates of the point where the line through (5, 1, 6)
and (3, 4, 1) crosses the ZX — plane.

Answer
It is known that the equation of the line passing through the points, (x1, y1, z1) and (x2,

X=X, Y=y zZ=z

y2,22),is 2 "% 2= h &%

The line passing through the points, (5, 1, 6) and (3, 4, 1), is given by,

x=5 _y-1_z-6

3-5 4-1 1-6
x=5 y=-1 z-6

I 2-F -:u—d):k(su_\-')
-2 3 ) :

= x=5-2k, y=3k+1,z=6-5k

Any point on the line is of the form (5 — 2k, 3k + 1, 6 —5k).
Since the line passes through ZX-plane,

3k+1=0
I
=k=——
:>5-3k=5—3[—]]='?
L 3) 3
23

a—ﬁk:a—s]_"|=
L 3) 3

Therefore, the required point is




Class XII Chapter 11 - Three Dimensional Geometry Maths

Find the coordinates of the point where the line through (3, —4, —=5) and (2, — 3,

1) crosses the plane 2x +y + z = 7).

Answer

It is known that the equation of the line through the points, (x1, y1, z1) and (x2, y2, z2), is

Vo=V B2

Since the line passes through the points, (3, —4, —=5) and (2, =3, 1), its equation
is given by,

- a =< — ‘=.1{ S'd\'b
2 (say)
= x=3 /l\=/x 4..‘.’=()/\’ 5

Therefore, any point on the line is of the form (3 — k, k — 4, 6k —

5). This point lies on the plane, 2x + y + z =7
22B-k)+(k-4)+(6k-=-5)=7

=5k-3=7

=5 =2

Hence, the coordinates of the required pointare (3 —2,2-4,6 x 2 - 15)
i.e., (1, =2, 7).

Find the equation of the plane passing through the point (—1, 3, 2) and perpendicular
to each of the planesx + 2y + 3z =5and 3x + 3y + z = 0.

Answer

The equation of the plane passing through the point (-1, 3, 2)
isa(x+1)+b(y-3)+c(z-2)=0..(1)
where, a, b, ¢ are the direction ratios of normal to the plane.
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ax+by+cz+d =0 and ®X* by+c,z+d, =0

It is known that two planes, nd , are
perpendicular, if

aa, +bb, +cc, =0

Plane (1) is perpendicular to the plane, x + 2y + 3z =5

sa-l+b-2+¢-3=0

=a+2b+3¢=0 «(2)

Also, plane (1) is perpendicular to the plane, 3x + 3y +z=0
La-34b-3+¢-1=0

=3a+3b+c=0 -(3)

From equations (2) and (3), we obtain

a b C
2x1-3x3 3x3-Ix] 1x3-2x3
a b c
_.:.—:——::k(sll\)
-7 8 =3

=a=-Tk, b=8k, c=-3k

Substituting the values of a, b, and c in equation (1), we obtain
Thk(x+1)+8k(y-3)-3k(z-2)=0

=(-7x-7)+(8y-24)-32+6=0

= -Tx+8y-3z-25=0

= Tx—-8y+3z+25=0

This is the required equation of the plane.

If the points (1, 1, p) and (=3, 0, 1) be equidistant from the plane
Fo(37 +4]-12k)+13=0
; ' , then find the value of p.

Answer

The position vector through the point (1, 1, p) is G =i+ ]+ pk

Similarly, the position vector through the point (-3, 0, 1) is

a,=-4i+k
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. . _F(3i+4j-12k)+13=0
The equation of the given planeis ! : /

It is known that the perpendicular distance between a point whose position vector is

a-N-d|
D=—F7————

F-N=d, is given by, }\‘

@ and the plane,
Here, N=3i —-4/—]2/\ and d_ ~13
Therefore, the distance between the point (1, 1, p) and the given plane is

(7 7+ pk)-(37 + 4712k +13
p, =1 ' '

: 3i+4_}'—l:/€]
B+4-12p+13
= D, = =
J3 4 +(-12)
|20-12p| .
s (1)

Similarly, the distance between the point (=3, 0, 1) and the given plane is

(=37 + & )- (37 + 47 -12) +13)

D, =

i3f+4,}—12/£]
(9—-12+13
DD:= = >
VI +E +(-12)
= D, =§ -(2)

2

It is given that the distance between the required plane and the points, (1, 1, p)

and (=3, 0, 1), is equal.
~D1 =Dz

|2()—12p’_ 8
13 13
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=20-12p=8 or —(20-12p) =8

=12p=12o0r 12p =28

= p=lorp=

W | =

Find the equation of the plane passing through the line of intersection of the planes

Foi+j+k)=1 Fo(2i+3j-k)+4=0

and and parallel to x-axis.
Answer

The given planes are

;:-(i~+ }'+-/€)=I

:>rﬂ(j+_}'+/€)—1:0

i"-(2f+3)’—/\:j)+4:0

The equation of any plane passing through the line of intersection of these planes is
“_,-'-(i+j+i)—|JI+A[/-'-(_2;+3]-/§)+4]:n
F[(2A+1)i+(32+1) j+(1-2)k | +(42+1)=0 (1)

Its direction ratios are (2A + 1), (3A + 1), and (1 — A).

The required plane is parallel to x-axis. Therefore, its normal is perpendicular to x-
axis. The direction ratios of x-axis are 1, 0, and 0.

SL(2A+41)+0(324+1)+0(1-2)=0
=>24+1=0
I

=D A=—=

2
: 1
A===
Substituting 2in equation (1), we obtain
1 T 3] i
=1 L—}:]'*'Sk‘-—(—})o
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Therefore, its Cartesian equationisy — 3z + 6 =0
This is the equation of the required plane.

If O be the origin and the coordinates of P be (1, 2, —3), then find the equation of
the plane passing through P and perpendicular to OP.

Answer

The coordinates of the points, O and P, are (0, 0, 0) and (1, 2, —3) respectively.
Therefore, the direction ratiosof OPare (1 - 0)=1,(2-0)=2,and (-3 -0) = -3 1t

is known that the equation of the plane passing through the point (x1, y1 z1) is

c—x, )+blyv—y (z-2)=0 . . .
”(-'\ A )+ ’(-‘ Vi )+(( '-) ( where, a, b, and c are the direction ratios of
normal. Here, the direction ratios of hormal are 1, 2, and —3 and the point P is (1,
2, —3). Thus, the equation of the required plane is

(x—1)+2(y-2)-3(z+3)=0

=>x+2y—-3z-14=0

Find the equation of the plane which contains the line of intersection of the planes

Fo(i+2j+3k)-4=0 7-(20+]-k)+5=0 ¥ ia )
' . and which is perpendicular to the plane

/'7(51?-—3]'—6/;‘)+8 =0

Answer

The equations of the given planes are

Fo(i+2j+3k)-4=0 (1)

Fo(2i+j—k)+5=0 =d(2)

The equation of the plane passing through the line intersection of the plane given
in equation (1) and equation (2) is

[r'-(./'.+2V}'+3/\7:)~4]+/i[1’~(2f+.}'—IE)+5} =0

F[(2a+1)i +(2+2) j+(-2)k|+(52-4)=0

—
[¥5)
~—
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) . . ) i"-(5f+3]'—6/€')+8:0
The plane in equation (3) is perpendicular to the plane,

5 5(22+1)+3(A1+2)-6(3-4)=0

=194-7=0
¢
=S A=—
19
: 7
A=—
Substituting 19 in equation (3), we obtain
.33, 45, 50~ |-41]
SO el sy A =0
19 197 19 19

= 7+(33i +45]+50k)-41=0 -(4)

‘vd

This is the vector equation of the required plane.

The Cartesian equation of this plane can be obtained by substituting

F=xi+ )+ 2K 0 equation (3).
(o + i+ 2k ) (337 + 457 + 50k ) - 41=0

= 33x+45y+50z-41=0

Find the distance of the point (=1, =5, —10) from the point of intersection of the line

= 2’?_-}42":+’1(3i+4]+2£) and the planeF'(;—‘;H‘?) -

Answer

The equation of the given line is
Fo=2i - j+2k+2(30 +4] +2k) (1)
The equation of the given plane is

Fi-j+k)=5 (2)

Substituting the value of r from equation (1) in equation (2), we obtain
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[2i—_}'+2/€+/1{3i+4_i+2/€)](f—j+/€)=5
:>[(32.+3)i+(4/.—|),}'+(2/:+2)/€]-(f-_;+1€‘)=5.

= (34+2)-(44-1)+(224+2)=5

=>A=0

Substituting this value in equation (1), we obtain the equation of the line as
F=2i—j+2k

This means that the position vector of the point of intersection of the line and the plane

- e Y
is T =2—j+2k

This shows that the point of intersection of the given line and plane is given by
the coordinates, (2, —1, 2). The pointis (-1, =5, —10).
The distance d between the points, (2, —1, 2) and (-1, =5, —10), is

[ . 5 3 P e
d=\(=1-2) +(=5+1) +(=10-2)" =\O+16+144 =169 =13

Find the vector equation of the line passing through (1, 2, 3) and parallel to the planes

F=(i—j+2k)= S FA3i+j+k)= 6

nd

Answer

A

Let the required line be parallel to vector b given by,
b= hll’ + /J_,j' T l),/\t

.
The position vector of the point (1, 2, 3)is ¢~/ 7=/ +3k

The equation of line passing through (1, 2, 3) and parallel to b is given by,
F=d+Ab
= 7 (i +2j+3k)+ A(bi+b,] +bk) (1)

The equations of the given planes are
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Fo(i-j+2k)=5 wl2)

Fo(3i+ jrk)=6 -(3)

The line in equation (1) and plane in equation (2) are parallel. Therefore, the normal
to the plane of equation (2) and the given line are perpendicular.

= (7~ j+2k)- 2(bi +b,]j+bk)=0

=> A(b,—b,+2b,)=0

= b —b,+2b,=0 -.(4)

Similarly, (37 + j+£)-2(Bi +b,j +bk)=0

_}A(Bh, Fb, 4+ b )=0

=35 +b,+b,=0 wl5)

From equations (4) and (5), we obtain

b, B b, a b,
(-1)x1-1x2  2x3—-Ix1 1x1-3(-1)
b b, b,
-3 B

Therefore, the direction ratios of gare -3, 5, and 4.

sb=bi+b,j+bk=-3i+5]+4k
Substituting the value of b in equation (1), we obtain

F= f+2]+3/f')+}. (37 +5 +4k]|
This'is the equation of the required line.

Find the vector equation of the line passing through the point (1, 2, — 4) and
x=8 419 -z-10

x-=15 y-29 =z-5
and =z =
3 -16 7 3 8 -5

perpendicular to the two
lines: Answer

Let the required line be parallel to the vector b given by, bi=bi+b,j+bk
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The position vector of the point (1, 2, — 4) is“ ™! +2] -4k

The equation of the line passing through (1, 2, —4) and parallel to vector"%s
F=d+ib

= F(i+2]-4k)+2(bi +b,j+bk) (1)

The equations of the lines are

x=8 +19 2-=10

= = I
3 —-16 7 ( )
x=15 y-29 z-5 o
B e k3)
Line (1) and line (2) are perpendicular to each other.
53b —16b,+7b, =0 ...(4)
Also, line (1) and line (3) are perpendicular to each other.
2. 3b,+8b,-5b, =0 -(3)
From equations (4) and (5), we obtain
b, N b, 3 b,
(-16)(=5)-8x7 7x3-3(-5) 3x8-3(-16)
b b b
24 36 72
| T Y
s _————

-Directioh rafios of © are 2, 3, and 6.

b=2i+3j+6k

Substituting b=2i+3)+6k in equation (1), we obtain

I :(l:+2]—4/(?.)+/:(21:'*3_;"*'6/‘7)

This is the equation of the required line.
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Prove that if a plane has the intercepts a, b, c and is at a distance of P units from the
] 1 ] ]

origin, then “ Toe P

Answer

The equation of a plane having intercepts a, b, c with x, y, and z axes respectively
is given by,

4 deZog (1)

a b ¢

The distance (p) of the plane from the origin is given by,

0 0 0
a i b 8 c !
P = =5 5
IBERED)
\a,) \b C
=>P= l
{ 1 * 1 i 1
Na® b &
— N !
L ) ; 1
a bt
1 1 1 1
= = f

Vo r Aast Ao 2 1 Rr =12
Distance between the two planes: =X T3V +42=4 nq 4x+6y+82=12;

(A)2 units (B)4 units (C)8 units

2

—= units
(o) V29

Answer

The equations of the planes are

2x+3y+4z=4 (1)




Class XII Chapter 11 - Three Dimensional Geometry Maths

dx+6y+8z=12
=>2x+3y+4z=6 -(2)
It can be seen that the given planes are parallel.

It is known that the distance between two parallel planes, ax + by + cz = d1 and ax + by

+ cz = dp, is given by,

D d,—d,
\}'ru" +b* +¢°
= D=|— g4
\,'l(z) +(3) +(4)
o}
D=—

2

Thus, the distance between the lines is V29 units.
Hence, the correct answer is D.

The planes: 2x —y + 4z = 5 and 5x — 2.5y + 10z = 6 are
(A) Perpendicular (B) Parallel (C) intersect y-axis

{
0,0,

5
\ 4 )

(C) passes
through Answer

The equations of the planes
are2x —y+4z=5..(1)

5x — 2.5y + 10z = 6 ...
(2) It can be seen that,
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Class XII
a 2
a 5

b =1 _2
b, -25 5§
¢ 4 2

Therefore, the given planes are parallel.
Hence, the correct answer is B.




